E i X %

BEET 1084 11804 12804 1384 14814
SFIU AR H30. 3224 | H31. 3% 4% | R2. 3%4 | R3. 3% 4 | R4. 3% 4%
i BB & XK ¥ 1 0 0 2 0
BINER X ¥ 0 0 1 0 0
PN 0 0 1 0 1
AR K% 1 4 0 0 0
£ 0 EBE X% 0 0 1 1 1
# B XK F 9 0 2 1 2
HBEEH XK Z(EZHE) 1 2 1 2 1
R #M KX F 9 3 3 10 9
REMIT =M X F 4 0 1 1 2
X R X # 1 5] 8 9 7
#F X% 1 4 5 6 3
I X % 0 0 0 2 2
L B XK # 0 1 1 1 1
oW X F 2 0 1 3 0
T DO i 9 12 12 6 5
NI -

o —— |l tomax | 11mA& | 1omik | 13 | 1414
BERIKXKZE 9 1 1 3 4
RMEILKXKE 1 6 0 3 3
X BRI XKZFE 3 1 2 2 -
KB i XE 2 0 1 3 -
NN N - - - 1 4
T DO i 3 3 5 1 4

E 2L KEH 44 42 46 o/ 49

X1 EFREDH

AIKRZEEADELEERE

RS KT ILaGEEXRE
EEXRF RREMXE
RBREFHKXE BE/XF

XY BEAFRXY BREXF BERZ2XF
BEERKE KREHKZ EEEMXFE RBEHKZ

REBEFKRE RSHEXFKAEFE
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